phép cong phan so (phan s thich hgp) (phan sd

khong ding)

Tén: Ngay thang: Piém:
6 7 7 1
— 4+ - = — 4 — =
8 3 8 2
5 1 4 5
4+ = — 4 - =
6 2 5 4
3 6 5 5
2 8 4 3
2 6 5 2
4 5 4 5
4 5 5 7
7 9 6 3
5 5 5 2
8 9 6 9
3 2 2 5
4+ == — 4+ - =
8 6 5 3
5 7 I 7
4+ - = — 4 - =
6 5 7 3
3 5 1 7
4+ = — 4 - =
6 7 9 4
6 1 4 4
— 4+ - = — 4 — =
9 6 6 5
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phép cong phan s6 (phan sb thich hop) (phan sd

khong dung)

Tén Ngay thang: Piém:
6 7 37 1 7 1 11 3
-+ —-=—=3— —t+—=—=1=
8 3 12 12 8 2 8 8
5 1 4 1 4 5 41 1
4o =o=1= e
6 2 3 3 5 4 20 20
3 6 9 1 5 5 35 11
S4o=2=02- e
2 8 4 4 4 3 12 12
2 6 17 7 5 2 33 13
Sh o= =1 e
4 5 10 10 4 5 20 20
4 5 71 8 5 7 19 1
g Shi=_=3-
7 9 63 63 6 3 6 6
5 5 8 13 5 2 19 1
S e
8 9 72 72 6 9 18 18
3 2 17 2 5 3l

—+ - =— -+t -=—=2—
8 6 24 5 3 15 15
5 7 67 7 1 7 52 10
T4 = =2 =T =0
6 S5 30 30 7 3 21 21
3 5 17 3 1 7 67 31
e e =
6 7 14 14 9 4 36 36
6 1 5 4 4 22

— 4+ == — =" =1
9 6 6 6 5 15 15
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